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Time: 10 Minutes Total Marks: 10

Paper Science 8th

6th Month, 3rd Week, 3rd Day |Syllabus: Unit # 12: Stars+ Birth&death of stars |

Q.No.1 Encircle the correct answer from the following choices. (0.5%6=3)
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1. A star consists of:

(a)|Nitrogen gas Jf(fﬁ /"‘/L’ (b)[Hydrogen gas u’f‘fwf&
(c)|Chlorine gas U{[ /}K (d)|Oxygen gas Jff 7
2. Our sun is a: e Gl
(a)|Blue star 2,0~ 1K |(b)|Red star N N
(¢)[Yellow star 2,01k |(d)|Brown star 2%
3. The stars are classified on the basis of their:

:‘glf ‘:’/(:'32’?0/ '%l/u”l?
(a)|Mass J|(b)|Size Z#L|(c)|Colour & (d)|All of these rV“:/
4. The surface temperature of the sun is: :4"_:«/’/,.3/:(5/&/ 4
(a) 3000°C (b) 4000°C (c) 5000°C (d) 6000°C

5. At the temperature around 10 million degree centigrade, the hydrogrn
start changing into:

:c"_(}: 2t [ ;‘ l:nJ“ P uzufk.:dl]g/)% /.Z—,é/ &fd/‘:‘u&j’uﬁ

(a)|Oxygen u;:C’/ (b)|Neon uﬂ(.} (¢)[Nitrogen (fu/’/b (d)|Helium (5%'4

6. The telescope is orbiting the earth at a height of about:

ey SIS g LIAE

@| 200km |®)| 300km  |(¢)] 400km  |@)|  500km
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1. A star consists of:

(a)|Nitrogen gas u’{f: /"‘/L’ (b)|Hydrogen gas de%ui’y
(¢)[Chlorine gas J{)j /}K (d)|Oxygen gas u{f“’c’/
2. Our sun is a: ‘e Gl
(a)|Blue star 2,0 1E](b)|Red star e .
(c)|Yellow star 2,01k |(d)[Brown star 4

3. The stars are classified on the basis of their:
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(a)|Mass J|(b)|Size #-|(e)|Colour Y (d)|All of these fv‘;d
4. The surface temperature of the sun is: :4;..:«1'/.3/;( i/d/ (4

@@| 3000°C |m)| 4000°C  |@©)| s000°C  |d)| 6000°C

5. At the temperature around 10 million degree centigrade, the hydrogrn

start changing into:
34"—(3.’/( C;; lmJ" K d"ul’ﬂ,{c«/’/..w% /.’Z_éj &{d/?uéu’)

(a)|Oxygen f:j 7 (b)[Neon 1d|(0) Nitrogen L‘/‘{}/A"/t (d)|Helium £
6. The telescope is orbiting the earth at a height of about:

e\ SIS igsih LIAE

(@] 200km  |b)| 300km  |@¢)| 400km  |@)|  500km
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Q.No.2. Write the short answers. 2x2=4)

(i) Write the names of dwarf stars. -u.‘f’grté Uiy
(ii) How is protostar formed? ?LL.L:%&“/JU’«;}/?
Q.No.3. Write a note on birth and death of star. (€))

-u.;“’d < ’4.:«5,1,!&“'!4;&./&

-u:"g.:«l,b’/z"

Q.No.2. Write the short answers. 2x2=4)

(i) Write the names of dwarf stars. <u.‘.”irt£ Ul d
(ii) How is protostar formed? ?‘a‘l:%d“//l‘/:’b)/?
Q.No.3. Write a note on birth and death of star. A3
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